MSA—R6S—E—BC—

L

5 ENTER
PULLEY PITCH DIAMETER 47.75mm (1.88(1) TRAVEL IN INCREMENTS OF 25mm
PULLEY WIDTH 28.9mm (1.138") SELFCT
PULLEY MATERIAL STEEL 2:2’;52’*;/3200”'0“*
BELT WEIGHT (kg) ((TRA\/EL IN METERS x 2)4—.61) x .12 AD=SINGLE SHAFTED
TRAVEL PER REV. 150mm BO:DN%%%E’BSEAEDE?HE Ry
’ > CESND e AR L B 2T S
TRAVEL MIN. 150mm P AR AM=SINGLE_SHAFTED W/ MOTOR MOUNT
TRAVEL MAX. 5825mm BM=DOUBLE SHAFTED W/ MOTOR MOUNT
CART WEIGHT (kg) 0.59kg
SYSTEM WEIGHT (kg) (TRAVEL IN METERS x 3.7) + 3.7

DZ* 102 SEE PAGE 2 FOR
/MOUNT\NG FACE
1
- M 4
o &
\‘ \ ® \‘ \
T ¢ ¢
‘ \ \ \ \
3 —————¢ —_—
\ \
f —~ ~—g19.05 **RAIL LOCATION
DOES NOT MOVE**
[]1* 4 x M8x1.25 — 6H THRU []3*
OVERALL LENGTH (TRA\/EL + 330mm)
3 x M8x1.25 — 6H ¥ 13
4 x ¢ 7 THRU 2 x M6x1.0 — 6H THRU ALL 110 7
23— KM8><1.25 — 6H THRU
/@\ 28— J—
5 o \ v T — 1 —
/ 3] (<14 3§ 0] 64 F %!
% AL (g ® o { ¢ Ip D-e 99 E I 100
/ Vo @ © Vo i 1 93 é ] ’ 75
7 o Vo Vo © o1 60 - . hi
T || U 2y l :: f |
\ \ \ \
{23 |a—56—n] B—=f f=— f _.zol._ LS
, - 40 = 40
3 x MB C’BORES 79 — ——
90° SPACING ON o
A @64 BOLT CIRCLE 80
[ e PHW |70 11/26/2017 |MATERIAC KALEACRON 5 RAL
—— ove DD /MM /YYYY
S B Loy ACTUATOR
APPROVED: o e —— N
MACRON DYNAMICS INC | S : 505
DATE i SURFACE FINISH _ _ SCALE_ 14| SHEeT Si7E_ G
I oo T T B e 1 oF 2 | MSAZRES
35 ChGE ViU NoTieE THIRD ANGLE_PROJECTION




CART MOUNTING

FEATURES
. . /*CART TOP
)
© O
28
&
\\4>< M8x1.25—6H
v10
CUSTOMER ACCESSIBLE SUGGESTED

MOUNTING FEATURES,

MOUNTING ACCESSORY
MACRON P/N: M22138

T—NUT SLOTS

N—77
40 O 8
i i ‘ _'||_/ —1f6
N 5 \G:"| D/ l

b tw-—l

20—

40

ONS_ARE_SUB.
ANGE WITHOUT NOTICE

DOUBLE SHAFTED

PULLEY
3x M8x1.25—6H
13 \\
4 \
\
52 N \\ 1 3
—
* ©
Pve” ] C
99 f

ZMOTOR
MOUNTING

SIDE

Jan)
U/
—
48
O
D

/4R

e—2 O—=f

40

SUBJECT

PHW  [*™ 11/26/2017 [MATERIAL TITLE:
YA MACRON 6 RAIL
=874 /2020 ACTUATOR
X = .03 NS
MACRON DYNAMICS INC
SURFACE FINISH SCALE _1:1 [ SHEET SIZE G
BREAK ALL SHARP EDGES SHEET PART NUMBER =
. [DIVENSIONAL LIMITS APPLY AFTER FINISHING| o OF 2 MSA—RBS
_ THIRD ANGLE PROJECTION






